
Lecture 4 - January 19

Math Review

Propositional Logic, Predicate Logic



Announcement 

• Tuesday’s lecture recording mossing!
• Lab1 released 

+ tutorial videos
+ problems to solve
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Expressing Implications
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Predicate Logic: Quantifiers

∀ i • R(i) ⇒ P(i)

∃ i • R(i) ∧ P(i)

- syntax
- base cases in programming
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N natural It's
↳ Oz(s]z3,..- +2
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Logical Quantifiers: Examples

∀ i • i ∈ ℕ ⇒ i ≥ 0

∀ i • i ∈ ℤ ⇒ i ≥ 0

∀ i, j • i ∈ ℤ ∧ j ∈ ℤ ⇒ i < j ∨ i > j

∃ i • i ∈ ℕ ∧ i ≥ 0

∃ i • i ∈ ℤ ∧ i ≥ 0

∃ i, j • i ∈ ℤ ∧ j ∈ ℤ ∧ (i < j ∨ i > j)
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